
08-06-2025

Discontinued Catalyst Loop Footplate 

This Catalyst Loop Footplate is discontinued as of November 30th, 2015
 

Item Number Part Number Description Quantity
1a, 2a, 3a, 4-
11 500740 Footplate Loop Assembly 14/15 Right 1



08-06-2025

Item Number Part Number Description Quantity
1b, 2b, 3a, 4-
11 500741 Footplate Loop Assembly 16/17 Right 1

1c, 2c, 3a, 4-11 500742 Footplate Loop Assembly 18-22 Right 1

1a, 2a, 11 100538 Footplate Loop w/ Grip 14/15 1

1b, 2b, 11 100541 Footplate Loop w/ Grip 16/17 1

1c, 2c, 11 100543 Footplate Loop w/ Grip 18-22 1

3a 000067 Footplate Loop Casting 3/4" Right 1

4 101472 M6 x 45 SHCS BLK ZC 1

5 101455 M6 Belleville Washer (.252 x .551 x .050) 1

6 000428 Wear Washer 1

7 000053 Saddle 3/4" 2

8 100746 M6 Flat Washer Blk Zn 1

9 120030 M6 Top Lock Nut 1

10 100667 M6 x 12 BTN SHCS BLKZC w/Patch 2

11 100803 Tube End Plug 7/8" 1


